The Chain Rule

The Chain Rule is used to differentiate _____________ functions:
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f(x) is considered the _____ part of the composition and g(x) is considered the _______ part.  To find the derivative of the composite function f○g, you have to apply the chain rule:
f○g′(x) = 
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f○g′(x) =   


f○g′(x) = 
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The Chain Rule
  
Given: 
F(x)  = f(g(x))  then,


F'(x) = f'(____) ____
  
In Leibniz notation:
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watch for common factoring.



Power rule if no coefficient in numerator.









Quotient rule safest to use.
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